i)
oo
ofn
8o
rlo
N
rlo

@D xx (-3x%) = -3x2 @ —2xx2y = —4x
1
® 2%y x (-90%) = -3 @ (207 x (x1)? = 4x°

3 2
® gxyf X §x2y2z = x3y33



L
Ulo
ol
go
R
S
rlo
pory
g

D xx (—2x2) _ g

@ —3x X 4y = _12xy
® *xzy X (_ny?’) = —4x3y4 @ (3x)2
? 2
) ixyZZ 8 §x2)’z = x3y213

x (2x)2 = 124



52

@ (—2x%y)3 x (2xy)? = 32x8y°
@ —4(x?)?%+2x* = -2
@ 2x3 x (=3x%) = —6x°

® 16x%y + 2xy X 4x = 32x>

rlo

Y

rlo






T

oju

a’b

3o

ab?®

.

ul

A



O -8x!2 @ 8x12 @ -10x8

@ 16x7 ® -16x"






4y

2zy

o




9.  HgHA ] 27} 2745 cm? L W), 3 BA 2] Q] Hol=?

® 3a%bcm @ 94%bcm ® 3a®bcm

@ 6a3bcm ® 9a3bcm



10.

7} =2 0] ZAo)7} 3a, M2 2] Zo|7} 2p 0] 1, Bul7} 2442
=7

© 6a ® 4b @ 3ab ® 4ab



o]7} x7 ¢l A+

@ 10xCy

of ol 7t

® 10x8y



6ab

-

-

o) o
T
Ho T

~
e

U

2
o}
16a2p3 o], WYl o]l7} 6ab ¥4



